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Modern Physics: Class Exam II

2 April 2021

Name: Total: /50

Instructions

• There are 6 questions on 6 pages.
• Show your reasoning and calculations and always explain your answers.

Physical constants and useful formulae

c = 3.0× 108 m/s h = 6.63 × 10−34 Js kB = 1.38 × 10−23 J/K 1 eV = 1.6× 10−19 J

melectron = 9.11× 10−31 kg mproton = 1.67 × 10−27 kg mneutron = 1.67 × 10−27 kg

Question 1

The probability density for position measurement
outcomes for a particle is as illustrated. Determine
the probability with which a position measurement
outcome will give 0 6 x 6 2L/5.
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Question 2

A particle is known to be in the state described by the wavefunction

Ψ(x, t) =







√

1

2a
e−i(px/~−ωt)

−a < x < a

0 otherwise.

Here p and ω are constants. Which of the following are true about the outcome of a mea-
surement of the particle position done at t = 0?

i) It could be any number and all are equally likely.

ii) It could be any number in the range −a < x < a and all are equally likely.

iii) It could be almost any number in the range −a < x < a with the likelihood increasing
from left to right.

iv) It could be almost any number in the range −a < x < a with the likelihood decreasing
from left to right.

v) It could be almost any number in the range −a < x < a with the likelihood oscillating
from left to right.
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Question 3

An electron is trapped in an infinite well with width 5.0×10−10 m. Determine the two lowest
lowest frequencies in the emission spectrum.
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Question 4

Consider a particle in an infinite well for which the potential is

U(x) =

{

0 0 < x < L
∞ otherwise.

The energy eigenstates for the particle are

ψn(x) =







√

2

L
sin

(nπx

L

)

0 < x < L

0 otherwise

where n is an integer that labels the state. A quantum lab technician has a collection of
identical particles, each its own copy of the same well. The particles are all guaranteed to be
in the same energy eigenstate but the value of n for this state is not known. The technician
measures the position of each particle and determines both the expectation value and the
uncertainty. He saves the expectation value and the uncertainty but then erases all of the
individual particle position measurement outcomes and discards the particles. After this he
is asked which eigenstate was involved (i.e. what the value of n was).

a) Describe whether the technician can use the expectation value to determine the eigen-
state. If so, how would he do this? Explain your answer in terms of calculations or
graphs.

Question 4 continued . . .
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b) Describe whether the technician can use the uncertainty to determine the eigenstate. If
so, how would he do this? Explain your answer in terms of calculations or graphs.
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Question 5

A particle is in a harmonic oscillator potential. The largest wavelength of light that is
emitted by the particle is unknown but the second largest is 500 nm. Determine the largest
wavelength of light that this oscillator could emit. Describe how the energy levels of the
harmonic oscillator explain your answer.
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Question 6

Consider a harmonic oscillator with potential U(x) = 1
2 ω0x

2. Consider the following candi-
date for an energy eigenstate/stationary state

ψ(x) = A sin (kx)

whereA and k are constants. Determine whether this is a possible energy eigenstate/stationary
state for this harmonic oscillator.
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